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Cuestion Mo : 1 of 52

Marks: 1 (Budgeted Time 1 Min) Eq

Data allocated m an array should be |

r~

peower (Prsen doloct your oot opion WWW.VirtualAcademylLive.com

Contignons correct

Discontmuous

Apart

Scattered

YNade by: YYaqar Siddhe

Cuestion No : 2 of 52

larks: 1 (Budgeted Time 1 Min) Eq

The easiest case of deletmg a node Fom BST 15 the case m which the node to be deleted

s (Pioes wiectyou oot syion) WWW.VirtualAcademylLive.com

Iz aleaf node
-

correct

Has left subtree only

Has right subtree only

Has both left and nght subtree

YNade by: YWaqar Siddhe




Cuestion Mo : 3 of 52 Marks: 1 (Budgeted Time 1 Min) E‘

Clonsder a min heap, represented by the fallowing array
346,75
ABer calling the function deleteMin(). Which of the followng is the updated mun heap?

Answer | Please select your correct option | WWW.Vi rtua IAcadem vLive.com

4.6,7.5
~
6,754
~
4,567
~ correct
4,657
e s
YNade by: YWaqar Siddhe
Cuestion No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) Ei
Consider the following postiix expression 5 and the imtial values of the vanables =

E=AB-C+DEF-+"
Aszume that A=3, B=2, C=1, =1, E=2 F=3

What would be the Bnal output of the stack? =

Answer | Please select your correct option | www.Vi rtua IAcadem VLive. Com

o I correct
0
-1
YNade by: Yy aqar Siddhe
Cluestion Mo : 5 of 52 Marks: 1 (Budgeted Time 1 Min) Iq

-

Consider the following infix expression.
5+62
If one converts the above expression into postfix, what would be the resultant expression?

Answer | Please select your correct option | www.Vi rtua IAcadem VLive. Com

564+ 2

C correct

5612+

Ba+35

YNade by: YYaqar Siddhe




Cuestion Mo : & of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

15 a data structure that can grow easly dynamically at run time without having te copy emsting elements

Answer | Please select your correct option | WWW .Vi rt u a IAca d e m vLive. CO m

e correct

List

Two dmensional array

Linkced list

YNade by: YWaqar Siddhe

Cuestion Mo : T of 52 Marks: 1 (Budgeted Time 1 Min) =

In the “mext “returns false when it reaches to the last node due to the fact that the mext Beld of the last nods 15 set to PTOLL.

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Circular hinked list colrect
~
Trple lnked bst
&
Singly linkeed bt
P
Trple inked hst and Circular bnlced hst
K L]
-
YNade by: YWaqar Siddh
Cuestion Mo : B of 52 Marks: 1 (Budgeted Time 1 Min) q

In Threaded Binary Tree, every nods that does not have a nght-child has a thread to its

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

in-order predecessor

pre -order successor

-or l']ﬂr SUCCES50r

correct

pre-order predeceszor

YNade by: YYaqar Siddhe




Cuestion Mo : 3 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

In Threaded Binary Tree, every node that does not have a left-clold hag a thread to s =

Answer | Please select your correct option ) WWW .Vi rt u a IAca d e m vLive. CO m

in-order succesgsor
-~
pre-order successor CORRECT
~
m-order predecessor
~
pre-order predecessor
€ =
»
YNade by: Yyaqar Siddhe
Cuestion No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) Ei

Suppose currenttlode refers to a node in a linked list (using the Mode class with member vaniables called data and sexiMode). Which statement changes currenttTode so that it refers to the next node? =

Answer | Please select your correct option | www.Vi rtua IAcadem VLive. Com

currentiode ++,
-~
curranthode = nextMode,
e~
currenthlode += nexilode
&~
currentMode = cumentModa-»nextMode;
P COITect -
YNade by: YW aqar Siddhe
Cuestion Mo : 11 of 52 Marks: 1 (Budgeted Time 1 Min) q

Queus follows

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Last m First out

First in Last out

First in First out correct

Eandom order

YNade by: YYaqar Siddhe




Question Mo : 12 of 52

Marks: 1 {Budgeted Time 1 Min) &)

We access elements in AVL Tree through

Answer | Please select your correct option )

Eoth lmear and non Imear ways

WWW.VirtualAcademylLive.com

Eandom order

Linsar way only

Mon Liear way only correct

YNade by: YWaqar Siddhe

Cuestion Mo : 13 of 52

Marks: 1 (Budgeted Time 1 Min) =

In complete Bmary tree, the bottom level iz Glled fom

Answer | Please select your correct option |

Lot to.ight correct

WWW.VirtualAcademylLive.com

Fight to left

Het filled at all

Tp to down

YNade by: YYaqar Siddhe

Cuestion No : 14 of 52

Marks: 1 {Budgeted Time 1 Win) &=

Which of the follownng statement 12 WOT true for Huffinan code?

Answer | Please select your correct option |

It 15 a method for the compression of standard text documents

WWW.VirtualAcademylLive.com

Tt uses Binary tree to develop codes of varying lengths for the letters used m the ongmmal message.

It 12 no more used m any cr.-mprl:ss:& file Eormat correct

Itz also part of the JPEG mage compression scheme.

YNade by: YYaqar Siddhe




Juestion Mo : 15 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Whuch one of the following 15 FOT the property of equivalence relation

Answer | Please select your correct option ) WWW .Vi rt u a IAca d e m vLive. CO m

Eeflexave
-~

Svtranetric
~

Transitive
~
- Associatve currect

=
Nade by: YWaqar Siddhe
Cuestion Mo : 16 of 52 Marks: 1 (Budgeted Time 1 Min) =

Here 1z an arvay of ten mntegers
3:389.1 70 864
Array after the FIEST iterabon of the mam loop in selection sort algonthm wall be (sorting from smallest to largest)

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

03 88514 T 5 2 B 4 carrect
~

2 6864038 91 ¥ 5
e

e A D T I g3 % 8
P

F 8 2 B4 8 1 ¥ 8
i,

L]
YNade by: YWaqar Siddh

Cuestion Mo : 17 of 52 Marks: 1 (Budgeted Time 1 Min) q

When untons are done by weight (size), the depth of any element 15 never greater than

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

logan correct

nlogzn

nlagant]

logan-1

YNade by: YYaqar Siddhe




Cuestion No : 18 of 52 Marks:; 1 (Budgeted Time 1 Min) E‘

What iz the best definthen of collision in a hash table? -

Answer | Please select your correct option ) WWW.Vi rtua IAcademVLive.Com

Two entnes are identical except for their keys

Two entries with different data have different leeys

Two entries with different keys have the same hash value

Two entnies with the same key have diferent hash values.

C

YNade by: Yaqar Siddhe

Cuestion Mo : 19 of 52 larks: 1 (Budgeted Time 1 Min) u

-

Which of the following can be the mclusion cntenia for pixels m image segmentation ¥

Answer | Please select your correct option | www.Vi rtua IAcadem vLive.com

Threshold of mtensity
-~
Przel intensity, Texture and Threshold of intensity correct
e
Prael 'Lnt:us:t";
-
Texture
r L]
YNade by: YWaqar Siddhu
Cuestion No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) q

-

Whch of the followng statement 13 I'TOT true for reference vanabls 7

Answer | Please select your correct option | www.Vi rtua IAcadem vLive.com

Cnce a reference is created, it cannot be later made to reference another object

Referencas cannot be NULL

References can be uninitialized

It 15 not possible to refer directly to 8 reference objact after it1s defined

YNade by: YYaqar Siddhe




Cuestion Mo : 21 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Bunrung time of fingyi) 12 propertional to the ofthe tree containing nede =

Answer | Please select your correct option ) WWW .Vi rt u a IAca d e m vLive. CO m

Weight
o~
= [ correct

Root
~

Mumber of links
i,

=
YNade by: YWaqar Siddh
Cuestion No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) =

T Can us il z WIS nthrns to generate an = e ]
A randem maze can use which of the followir onthms to generat ew maze every tmeT

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Uion
-
Find
P
Zearch-sort
-
= Union-find correct
L]
YNade by: YWaqar Siddh
Cuestion Mo : 23 of 52 Marks: 1 (Budgeted Time 1 Min) q

& Row m a tahle is known as

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Record  correct

Dictionary

Field

Cell

YNade by: YYaqar Siddhe




Question Mo : 24 of 52

Marks: 1 (Budgeted Time 1 Min) &)

In a skap hat lurut of the array has no condition

Answer | Please select your correct option |

Lower

WWW.VirtualAcademylLive.com

Middie

Upper

Bottorm

YNade by: Waqar Siddhe

Cuestion Mo : 25 of 52

Marks: 1 (Budgeted Time 1 Min) =

When tweo or more than two keys produce a same index m hashing finction, this stuation 15 know as:

Answer | Please select your correct option |

Zame key and same vahue

WWW.VirtualAcademylLive.com

L1
Colbsion correct

Same key generation

Zame value generation

YNade by: YYaqar Siddhe

Cuestion No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)]

When does the best case of an mseron sort algonthm occur?

-

Answer | Please select your correct option |

When data is already sorted

WWW.VirtualAcademylLive.com

AR E Rk

When more than 50% data already sorted

When no element 15 on its proper postion

When about 20% of data 15 already soried

YNade by: YYaqar Siddhe




CQuestion No : T of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Best case runmung bme ofinsertion sort algenthm 15 =

Answer | Please select your correct option | WWW.Vi rtua IAcadem vLive.com

2 (n}
-~
O (r2) correct
-
2 (logn)
-
O (nlogn)
£ s
YNade by: YWaqar Siddh
Cuestion No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) =
If a bist contains 32 elements, how many times the hist must spht during merge sort? =

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Log (32) tmes
&
32 times
~
16 tumes
-~
R correct not confirm
L]
YNade by: YWaqar Siddh
Cuestion Mo : 29 of 52 Marks: 1 (Budgeted Time 1 Min) q
If an AVL tree becomes unbalance due to inserting/deleting a node then we use to rebalance it =

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Motaton

Rotation correct

Recursion

exEfrachon

YNade by: YYaqar Siddhe




Cuestion Mo : 30 of 52

Marks: 1 (Budgeted Time 1 Min) &)

Beturn value of gethiing ) methed 13 always of MinHeap

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com

Foot

correct

Left

Leaf

YNade by: Waqar Siddhe

Cuestion Mo : 31 of 52

Marks: 1 (Budgeted Time 1 Min) =

The worst case of bulding aheap of 1 keys 13

Answer | Please select your correct option |

N

WWW.VirtualAcademylLive.com

b

Hloght correct

YNade by: YYaqar Siddhe

Cuestion No : 32 of 52

Marks: 1 (Budgeted Time 1 Min) (=

Which staternent 15 about heap area when an executable 15 run?

-

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com

The operating sysiem makes a process made memory

Contains the binary version of the actual code

A section for static data including global variables

Uhlized at the tme of memory allocation in dynamac manner

correct

YNade by: YWaqar Siddhe




Cuestion No : 33 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Using Huffman Encoding For data to be sent on netwerlk enables us to send it with

Answer | Please select your correct option ) WWW.Vi rtua IAcadem vLive.com

Large data size and More transmission time

Small data sire and More transmission tune

Small data size and Less transmussion e correct

Large data size and Less transmission time

YNade by: YWaqar Siddh

Cuestion No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) =

Compiler 15 a

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Metwork
~
Data Structure
e
Language Translator correct
P
Database
i L]
YNade by: YWaqar Siddh
Cuestion Mo : 35 of 52 Marks: 1 (Budgeted Time 1 Min) q
Whch of the followmg 13 OT a factor m Usion by Size? =

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

y Maintams sizes (mumber of nodes) of all rees
- Malces smaller tree, the subtree of the larger one
" Malees the larger tree, the subtree of the smaller one correct
= Wlantams sizes {mamber of nodes) while periormmg uon cperation
YNade by: YYaqar Siddhe




Juestion Mo : 36 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Which of the follovnng serting algenthms is of dinde- and-conguer type?

Answer | Please select your correct option ) WWW .Vi rt u a IAca d e m vLive. CO m

Inserion sort

-

Eubble zort

Selection sort

o
ki correct
€ &
»
YNade by: Yyaqar Siddhe
Cuestion Mo : 3T of 52 Marks: 1 (Budgeted Time 1 Min) =
A binary tree with 45 internal nodes has tinles to external nodes. =

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

44
45
D
90
YNade by: YYaqar Siddhe
Cuestion No : 38 of 52 Iarks: 1 (Budgeted Time 1 Min) q

-

Ifthere are 23 external nodes in a Bmary tree, then number of mternal nodes wall be

Answer | Please select your correct option | www.Vi rtua IAcadem vLive.com

23
r

24

21

:-) YNade by: Yy aqar Siddhe




Cuestion Mo : 39 of 52 Iarks: 1 (Budgeted Time 1 Min) E‘

Which of the follownng statements 13 NOT true about threaded bnary treef =

Answer | Please select your correct option | WWW .Vi rt u a IAca d e m vLive. CO m

Fight thread of the nght-meost node ponts to the durery node

Left thread of the lef-most node pomts to the dumemy node

The left pointer of the dumiry node points to the root node of the tree

Left thread of the nght-most node ponts to the dumirgy node.

correct
b s
»
YNade by: Yyaqar Siddhe
Cuestion No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) =
Which of the follownng 15 FTOT an example of equivalence relaton? =

Answer | Please select your correct option | www .Vi rt u a IAca d e m vLive. co m

Electncal comnectby
.
Set of people
-
<=relation correct
~
et of puzels
i L]
-
YNade by: YWaqar Siddh
Cuestion No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) q
[fwe allow assignment to constants what will happen? =

Answer (Please clic here o Add Anwer) WWW.VirtualAcademyLive.com
A e e I N e e s ||
Prermai ][+ =P Eler|==—==i=sE e

‘ YNade by: YYaqar Siddh




Cuestion No : 42 of 52 Marks:; 2 (Budgeted Time 4 Min) E‘

How Table ADT can be mplemented using Linked Last 7

Answer (Pleose click hete to Add Answer) WWW.VirtualAcademyLive.com
IR e N A e | Y Rl (oA |
[seemal = | =z =limrty |' = = ] —i= i

. YNade by: YWaqar Siddhe

Cuestion No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) E‘

How we can search an element in Slap List?

Answet (Plesse lick hets o Add Answer WWW.VirtualAcademyLive.com

n#:aaufmw~1ﬁlL'£M@1m3
[ | =l =l u|' == ] —i= R s

. YNade by: YYaqar Siddhe

Cuestion No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) q

Convert ths tree representabion of a heap mito the correspendmg array reprezentation

Answet (Plesse lick hets o Add Answer WWW.VirtualAcademyLive.com

n#:aaufmw~1ﬁlL'€M@1m3
[ | =l =l u|' == ] —i= R s

. YNade by: YYaqar Siddhe




Cuestion No : 45 of 52 Marks; 3 (Budgeted Time & Min) E‘

When Hashing 12 IOT suitable?

Answer (Pleose click hete to Add Answer) WWW.VirtualAcademyLive.com
IR e N A e | Y Rl (oA |
[seemal = | =z =limrty |' = = ] —i= i

. YNade by: Waqar Siddhe

Cuestion Mo : 46 of 52 Marks: 3 (Budgeted Time & Min) =

Consider the following smgly Loked List =

Ciu
Last Current LAITENE

T !

Answer (Please clic here o Add Anwer) WWW.VirtualAcademyLive.com
n#:aaufmw~1ﬁlhlawﬁhm3
[ | =l =llmirtn |' == ] —i= fm s

. YNade by: YYaqar Siddhe

Cuestion Mo : 47 of 52 Marks: 3 (Budgeted Time & Min) q

The followmg array represents a heap structure

T 2 13 T4 [5 [& [7 [& [@ [ia [0 [i3
97 |76 |61 |42 |54 |55 |31 |23 |17 [44 |49

Insert a new value 86 into the heap. Show the resultant heap, after msertion, in the form of array

Answer (Please clic here o Add Anwer) WWW.VirtualAcademyLive.com
n#:aauimw~1ﬂlhlaw@ﬁﬁm
[ =)l =l =l |' =— = |lli= =

. YNade by: YYaqar Siddhe




Cuestion No : 48 of 52 Marks; 3 (Budgeted Time & Min) E‘

How many parameters are required for performng the fallowing eperations on TableT Also tell names of those parameters

s }

maert
find
remove

[T

Answer (Please click here (0 Add Anwer) WWW.VirtualAcademyLive.com
S T A e L Y A |
[seemal = | 3 | CFE [ A |' === lll==

. YNade by: YWaqar Siddhe

Cuestion No : 49 of 52 Marks: 5 (Budgeted Time 10 Min) Eﬂ

-

Here 15 a small binary tree

14 U
I\

2 11

P N Y

Arswer (Please click hete o Add Answer ) WWW.VirtualAcademyLive.com
m R R e ]
[ | =l =llmirtn |' == ] —i= fm s

. YNade by: YYaqar Siddhe

Cuestion Mo : 50 of 52 Marks: 5 (Budgeted Time 10 Min) Eﬂ

Here 15 an array with exactly 15 elements:
l 2 3456 789 10 11 12 1% 14 135
Suppose that we are domng a bmary search for an element, Indicate any elements that wall be found by examnng two or fewer mumbers from the aray

Answer (Please clic here o Add Anwer) WWW.VirtualAcademyLive.com
w#saauimw~¢ﬁhulawﬁﬁﬁm
[ | =l =llmirtn |' == ] —i= fm s

. YNade by: YYaqar Siddhe




Cuestion Mo : 51 of 52 Marks: 5 (Budgeted Time 10 Min) EII

Clangmder the mn-heap representzd in the fellowang aray

| ¥

T 12 [5 14 5 [6 [7 [ [ [0 [0 [z i3 1A |5
10 |20 [20 |50 [40 [70 |60 (80 |90 J110 [100 [130 |120 |140 |150

Show the updated men-heap m the array after deletmg 10

e e e e 1 S A WWW.VirtualAcademyLlive.com
D S| 6 E e s Gl s o @) oo S|
| B Al ceri|=c—|-ree

Nade by: Yaqar Siddhe

Marks: 5 (Budgeted Time 10 Min) E'J

Cuestion No : 52 of 52

Civen mput {23, 46, 12, 59, 78, 87, 2, 3] and a hash function hix) =x mod 11, show the resulting "Chammg hash table”

Answer (Pleose click hete to Add Answer) WWW.VirtualAcademyLive.com
Pl | Cs ] o T [ ST ) oo =)
Prermai G| B Al Eeri==—=EEiE T e

YNade by: YYaqar Siddhe




